
ANSWERWITHEXPLANATION [SET–40]

1.(d)
×3+1,×4+2,×5+3...

2.(b)
+4×2,+8×3,+12×4

3.(a)
Theseriesisbasedoncombinationoftwoseries.
S1=+13,+26,+39...andS2=+7,+14,+21...

4.(d)
+36,+72,+144,+288...

5.(c)
(22)²,(27)²,(32)²,(37)²...

(6–10):

6.(d) 7.(c) 8.(a) 9.(b) 10.(d)

11.(d)
Allpossiblerepresentationsofalphabets:

12.(d)
Allpossiblerepresentationsofalphabets:

13.(d)

14.(d)

Thesequencegivenisabbcabbcabbcabbc

15.(a)
Thesequencegivenisabcabccabcccabccc

c



16.(c)

17.(a)

18.(b)

19.(d)
Accordingtostatements
8+Nikhil=Rohan
From Option
8+8=16year

20.(d)
ORANGEisnotderivedfrom ORGANISATION.

21.(c)

22.(b)
8a3c24b12d19

=8×3+24÷12–19
=7

23.(b)
2×4×6=48,3×2×8=48and2×5×7=70
Here+isreplacedby‘×’togetrequiredresult.

24.(d)

25.(d)

[Ifanyqueryaboutthesequestionspleasecontact8167092555from 10am to6pm]


